












Find the option which should replace (?)

(A) 1 

(B) 2

(C) 3
(D) 4



R’s mother is the only daughter of M’s father . How is M’s 
husband related to R ?

R की माता, M के पिता की इकलौती िुत्री है। M का िपत R से
पकस प्रकार संबंपित है?

(A) Father    

(B) Uncle

(C) Grandfather

(D) Brother
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Find the odd (?)

(A) GBI , j

(B) ABE , e

(C) BAF , f

(D) EAB , h
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Find the odd (?)

(A) Pharynx / उदर में भोजन

(B) Bronchiole / ब्रोन्किओल

(C) Auricle / कर्ण-शषु्कल्ली

(D) Alveoli / एन्कियोली
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Find the missing ONE (?)

1643 : 2399 :: 768 : ?

(A) 1638

(B) 1524

(C) 1368

(D) 1254

Kuldeep Mahendras Reasoning Daily Class 8:30 PM



Find the missing ONE (?)

(A) 17

(B) 15

(C) 13

(D) 19
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Find the missing ONE (?)

HXGJ : PKTB :: KWMW : ?

(A) SJZO

(B) SJYO

(C) SIZO

(D) SJMZO
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Find the missing ONE (?)

INED : 8

KSZH : 16

RYSB : ?

(A) 12

(B) 18

(C) 16

(D) 14

Kuldeep Mahendras Reasoning Daily Class 8:30 PM



Find the ODD (?)

(A) 225

(B) 825

(C) 625

(D) 525
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Find the missing ONE (?)

4 : 52  :: 6 : ?

(A) 67

(B) 98

(C) 76

(D) 89
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Statement :

All 1 are 2. सभी 1, 2 हैं।
All 2 are 3 . सभी 2, 3 हैं।

Conclusions : 
(I) Some 2 are 3. कुछ 2 , 3 हैं।
(II) All 3 are 1. सभी 3, 1 हैं।

(A) If only conclusion I follows.

(B) If only conclusion II follows.

(C) If neither conclusion I nor II follows.

(D) If both conclusion I and II are follows.



Find the option which should replace (?)

7 : 85 :: ? : ?

(A) 3 : 31

(B) 8 : 113

(C) 5 : 43
(D) 2 : 9



Find the option which should replace (?)

0200, 1202 , 2204 , 3309 , ? 

(A) 4409

(B) 1510

(C) 4520
(D) 4316



Find the option which should replace (?)

2, 4 , 9 , 28 , 125 , ? 

(A) 976

(B) 726

(C) 342
(D) 128


